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Energy	
  Genera*on	
  Comparison	
  

6	
  kg	
  of	
  thorium	
  metal	
  in	
  a	
  liquid-­‐
fluoride	
  reactor	
  has	
  the	
  energy	
  
equivalent	
  (66,000	
  MW*hr	
  

electrical*)	
  of:	
  

=	
  

230	
  train	
  cars	
  (25,000	
  MT)	
  of	
  
bituminous	
  coal	
  or	
  600	
  train	
  cars	
  
(66,000	
  MT)	
  of	
  brown	
  coal,	
  

(Source:	
  World	
  Coal	
  InsJtute)	
  

or,	
  300	
  kg	
  of	
  enriched	
  (3%)	
  uranium	
  in	
  
a	
  pressurized	
  water	
  reactor.	
  

*Each	
  ounce	
  of	
  thorium	
  can	
  therefore	
  
produce	
  $14,000-­‐24,000	
  of	
  electricity	
  
(at	
  $0.04-­‐0.07/kW*hr)	
  

or,	
  440	
  million	
  cubic	
  feet	
  of	
  natural	
  
gas	
  (15%	
  of	
  a	
  125,000	
  cubic	
  meter	
  
LNG	
  tanker),	
  

















Molten	
  Salt	
  Reactor	
  Experiment	
  

Bldg.	
  7303,	
  Oak	
  Ridge	
  Na*onal	
  Laboratory	
  








